r'=x'-yT")e +(y+xT')e, +(1+xK)e,

d‘zds

S —dp

e, =-R(s)

> —_dz [|ldz

el(_ dses/dses

e, =e Xe,
g = ~ . 1
<e =—Ke., with xKx=—

Yo,

0=5(6.6)=¢ 46 - K

S

Accumulated torsion angle T'

d 2 — 3 '3
“e.=ke +T'e,

0=<(¢,-¢.)=¢ L& +T

K K

d = _ 2
“-e, =—1"e

ds
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e.cos(T)—e, sin(T)

E =e_sin(T)+e, cos(T)
Le =—K e —K €
ds s XX yoy
4Le =kcos(T)e, =k, e,
d — _ - —
e, =ksn(T)e =k e

e, +(I+xx, +yk,)e,
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p=(p,—pk)e +(p,

- —1 - ~1 1~ myh 1~
=g %p: F = p7: F
[ Lp, )
o =g = o
. p, Ey s
| myh
7 Bt bk, E =(pc)’ +(mc*)’
myh
K Py Fy+psKy)

-p,k)e, +(p,+K.p,+K,p,)e
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_px py 5=E_EO ’

E
L T= (D) =t~ 1) 2
Po Po L, Vo Po

Usually p, is the design momentum of the beam
And t, is the time at which the bunch center is at “s”.

x' = apr}j x‘:aaK/po’ a'z—axK/pO
P;c =—d, K y':abK/pO, b'=—ayK/pO

—t'= 0, K = 7'= %35K/E0=35K/p0
E' :—a_tK = 5':_%081'[{% :_ar K/po

New Hamiltonian:

FI:K/pO
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